[image: ]
Beijing Triumph Furniture Co., Ltd
北京全福凯旋家具有限公司
Dadushe, Tongzhou District, Beijing, China 101103
北京通州区大杜社 101103
Tel: +86 10 6158 6106  Fax: +86 10 6158 2131
www.camerich.com
Tips for Installing Unity Table

This is the supplement for the install instruction for Unity table.
 
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]Step 1: 	Install support brackets to the base with 16 screws (M8*110) and 1 screw (M8*50).

Tips: Fit one screw into the hole on each side. DO NOT tight it until other three screws fit properly.
[image: c:\users\administrator\appdata\roaming\360se6\User Data\temp\viewfile_f=A3BC79E8D7809313B63C8573498221DD802D0AF2F2CC19869CBCCA29F8EBC48A9F000.jpg]

Step 2: Install Lazy Susan to the support brackets with 4 screws (M8*110) & 4 washers of metal (M9).

[bookmark: _GoBack][image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\AGNW%IQ9J7}5LTA$1AV)TZC.png]

Tips: DO NOT tight them until the completed table installation is finished. 

Step 3: Install metal plates to the support brackets with 16 screws (M8*20).
[image: c:\users\administrator\appdata\roaming\360se6\User Data\temp\viewfile_f=A3BC79E8D7809313B63C8573498221DD802D0AF2F2CC19869CBCCA29F8EBC48A9F000.jpg]
Step 4: Connect 2 outer table top with 4 dowels and 4 connection hardware (ø35*M10)
[image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\V$X~~_``CKHRFEOR[E2{7QK.png] [image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\HDHLKU{((DI7(KC[QH28(1G.png]

Tips: When placing the outer table top to the metal plates, make sure the connected area to be placed as closer as possible to the metal plates. See below: [image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\}@CRX5CHT[COJZ48N@TGSVK.png]
Step 5: Fasten the connection hardware with open-end wrench (M10).
[image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\XN[D6ZI]~EB69G$V6ZUP8GQ.png]

Step 6: Move the outer table top until the connected area right on the metal plates, make sure all holes aligned 
[image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\O[5_YU~044UH7R4Q0UI8Y]C.png]

Step 7: Install outside table top to the metal plates with 24 screws (M8*20).
[image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\@CU3MGM%~`0IUZ4{KZ8K69S.png]
Step 8: Tighten 4 screws ( M8*110) underneath the support brackets if it’s even. If not, adjust the pre-built hardware with Allen wrench (M4) shown below 

[image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\313239735\QQ\WinTemp\RichOle\@JO~HKUQ~%_EIL_Y13$P50O.png]
 (
第
4
页共
4
页
)
image3.jpeg




image4.jpeg




image5.png




image6.png




image7.png
Fasten theg]
fixings





image8.png




image9.png




image10.png




image1.jpeg




image2.jpeg




image11.jpeg




